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1| H26.4.21| A BRI —5 Nt (k%) 7 BWFst | 30,108 )11
1| H26.4.21| A BRI —5 Nt (k%) 7 BWFst | 30,108 ESYIN
1| H26.4.21| A BRI —5 Nt (k%) 7 BWFst | 30,108 =105
1| H26.4.21| A BRI —5 Nt (k%) 7 BWFst | 30,108 iips|
1| H26.4.21| A EEIF—5 g (k%) o7 Bt | 30,108 K
1| H26.4.21| A EEIF—5 g (k%) o7 Bt | 30,108 B
2| H26.4.23| A B3I —lkE PRRRIR, A 97,860 gy
2| H26.4.23| A B3I —lkE PRI, A 97,860 USS
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2| H26.4.23| FE B I —fkEr PRI AET 97,860 =105
2| H26.4.23| FtEBEEIF—fkEr PRI AETT 97,860 (o
2| H26.4.23| FHE B I —fkEr PRI AET 97,860 K
2| H26.4.23| FtEBEEIF—frEr PRI AETT 97,860 R
3| H26.4.23|— 7L F 122 PRI AHET 38,030 B
4] H26.5.23| I — ik S LD 98,220 (L0
4| H26.5.23| B &I — k&S % D 98,220 7

4| H26.5.23| B &I —iRE S % D 98,220 R
4] H26.5.23| B w3 — ik g LD 98,220 ol
4] H26.5.23| B w3 — ik g LD 98,220 JIJE H
4] H26.5.23| B w3 — ik g LD 98,220 o
4] H26.5.23| B w3 — ik g LD 98,220 T H
4| H26.5.23| &I — k&S % HORAB 82,380 @It
4| H26.5.23| BB — k& S % HORAB 82,380 P
4| H26.5.23| BB — k& S % HORAB 82,380 )1l
5| H26.4.1@BFHFER4H ~12H B ASAE 17,120 fEHE
6] H26.4.1|4 Pl a4 ~124 A T 4,500 fa
7] H26.4.1| B o— Vg ~124 H&BP~—47T7 427 66,150 &
8|  H26.4.1| /3 AREHEEM A ~12 H A o080 8,800 fE
9| H26.4.24|F¢7 8 BSR4 H 4> i b — (R - i 3,093 fE
10| H26.4.278REHE 4R 7y () 7 AT — N3 2,686 |f&JF
11] H26.5.2|5 WA E FIR-FA (L ()~ ZHIR 121,770 v
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12 H27.3. 20 Hideps TR EH ot e TagEE e | 24,000 IR
13| H26.4.4|z"—f)—=4 H %y YJa—) — 2Rtk 16,800 S
14| H26.5.6[XFE [THEBEA) Aot s B s 1,080 ARG}
15| H26.4.19|8%81 24 A 4> (FR) 18 M7 T () )| R 5,000 |7T8A
16| H26.4.28[="—fk)— =24 H 5y YJa—) — 2Rtk 15,225 K
17]  H26.5.7[iES#WmEE fAmR Sy R 11,753 (L
18 H26.4.28[F—# /4 —E2B}2 H -3 H 4y WAy 4,200 Hm
19 H26.4.30 Bk 4 H 4y (BR) /NI i 5,000 | E H
20| H26.4.25|kEE4AH 4y (BK) 48 HA ih 5,000 |74t
21| H26.4.18|h—4 /L —b 2k} (k) V77— 1,512 il
22| H26.4.24|BKEEAH 4y e [l A 3,547 [k
23| H26.4.29|KE 24 H 4y 4,436 |5 iR
24| H26.5.9| 1 71% Y~ X% 1,111 =105
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26| H26.4.30| 3¢ A% HA— 540 =15
27| H26.5.13| Bt INFTURARY 600 =15
28| H26.5.17|kEFES H 4y HA A A A 1,220 | &= IR
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30| H26.5.15[ & H Mk LA/ — 2,160 2R
31| H26.5.20(=t"—{% 3H4H Yo — U 1,611 =R
32| H26.4.1|=—HU—2EHMHA ~10H (BR) A AL A ) —2 6,762 ol
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34| H26.5.24| e B M HeEs H 5 Pt s — R S i 3,093 fm
35| H26.5.21 s EE FHIBML PR H 48,600 fm
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37| H26.4.30|Ferc 8 Ml me e A 5 Fire L B —He Rk 3,093 A2,
38| H26.5.21|#E ¥ iR H AR HE Btk 32,400 2.
39| H26.6.2|F WA E HIRIL A ER A PR 43,200 A2
40|  H26.5.6|XFEA D) OB O ELE ) FESCAR 1,646 A2
41| H26.4.26| %k E4 H 4y TE A S — R A ) 1,333 [k
42]  H26.5.5| 865 H 4y KB B A ) 2,859 |k
43] H26.5. 11| KFEAR TLAen e H ARSI ) <ESbEIE 1,296 KA
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127]  H26.6.8|8kEE6 H 4y HA FH A 3,564 | Em
128] H26.7.27|REVETH 4y HA FH A 5,000 | ZEA
129] H26.8.21|BkEES H 4y HA FH A 5,000 | =
130 H26.8.11|#KEIE8H 4y BRI AT — NG AR 2.892 | =ik
131 H26.8.2[ 1 71% (BB v ~& &k 1,286 =
132] H26.7.19|K k227 H 4y 4,525 |7 iR
133] H26.6.21|18%ElE6 H 45 B)F7 AT — M E LA 2,866 |7
134 H26.5.22|BREIES H 4 (B3 25— FM K5 918 |'E iy
135 H26.6.13|="—f% 5H Yoa— U Uk 482 =R
136 126.7.23\MlEEI7—5 N (BF) M sk Bargeas | 30,173 a2,
136] H26.7.23Ml& B3I —5 N (BR) 7 B prsEa | 30,173 LA
136] H26.7.23[{li5EIF—Z N (BR) 7 BpFsEa | 30,173 FAK
136] H26.7.23[{li5EIF—Z N (BR) 7 Bprse | 30,173 KA
136] H26.7.23Mli& B3I —5 N (BF) sk BAFges | 30,172 =1
137] H26.7.23|Mli& &3 — ik BRI ST 119,970 A2,
137] H26.7.23Mli & &3 — ik BRI ST 119,970 JLHA
137] H26.7.23Mli & &3 — ik IR AL ST 119,970 Rk
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138] H26.7.29| EETi LR S NE fi] Ly U 69,660 A
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138] H26.7.29| EpETifRERE S INE fi] L1 R 69,660 &S
138] H26.7.29| ERETifRESRE SN fi] Ly U2 69,660 )11 &l
138] H26.7.29| EETifRERE S INE fi] (L] U 69,660 FA 7K
138] H26.7.29| ERETifRESRE S INE fi] (L] U 69,660 K
138] H26.7.29| EpETifRESRE S INE fi] (L] U 69,660 =15
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140  H26.8.7|H w3 — ik LD 83,980 kT
140]  H26.8.7| Bt I —fikE LD 83,980 FATK
141 H26.8.19{fLig =3I —2 N MGmamarseir | 25,144 iigs|
141 H26.8.19[fLig =3I —2 % WGmamarseir | 25,144 B
141 H26.8.19[fLig =3I —5 % MR amtseiT| 25,144 EH
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142] H26.8.19|FLIE I — ik 2 AbifiE, FLiR T 95,720 U&S
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143] H26.9.22|hF—H—hKJv Itk (BR) Ak i 92,340 =R
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146] H26.8.26| %KL E8 H 4y = ZEUFJ== A (ff) 3,284 |2
147] H26.9.27|7 AV A/ S AL — i N\ E B) A ALER 25,655 AN
148  H26.9.9|h—%/L4—t" 2k} HPET A 13,413 HH
149] H26.9.13 )%k E27.8.9H 4 (BKR) /A it 7,368 | ELH
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BERAEEHBAME 7168

< H & #m )

X e = = -
&5 N & HSE e | R OE &' R &' R ; Z DA, i &
FHHA BHET | G B | (e | mpagy | DR REER ) MER | oo
2 7,245,386 | 318,720 (2,103,652 | 911,245 |1,270,052 0 0 559,509 |= &t 12,408,564

151] H26.8.10|kEFES H 4y (BR) t& 1A i 5,000 |Z7kT
152] H26.9.25|#c7c #r i kEReE A 43 Fedi y — S i 3,093 wIt
153] H26.9.27| FERRHTIIO H ol st et ASAEE FE 3,085 wIt
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156] H26.8.31)kEET7.8 H 4y T A S 6,614 |)IIJF H
157 H26.7.16[F &l ol vy — DT UH 19,440 )1 JEH
158] H26.8.25| FHH A ~N— —T oy — NUF T UH 19,980 )1 JEH
159] H26.9.26|% H #rHkE e H 4y ASAPERS 3,093 AR
160 H26.9.1| 471X GOODDAY {#BEAE G 7,170 R
161]  H26.9.1| 5% H % Dt GOODDAY A 1,210 e
162] H26.9.25|8kEHE9 B 4y (BE) ENEOSZ A 550 |#AE
163| H26.8.26{BAEIES A 4y CBR) f M 1 = 5 7 B () 5,000 |7T5H
164 H27.2.28|="—f; Ja—H—bEX 2,052 K
165] H26.7.30| h—2 /L — 2k} (BR) Y7 — 18,356 )1 I
166| H26.9.21|ZE Hr il siet H AR ZE Bkt 8,100 )1l
167 H26.6.27 V=8 FiiAEE Gk Ve ) | B e s 8,964 )1l
168 H26.9.26|1=8 FiikE G Ve ) | B e s 8,964 )1l
169 H26.9.29i=®wAE AR 0 A ] E R 185,328 )1 I
170] H26.8.27|=t"—fE U — =2k} Va—Y—2EA &t 15,225 K
171] H26.8.29|h—4 /L4 —E 2%} R ar’—H—E 4,231 U
172] H26.8.25| L A5 AdRBERE ek H AL PR O X 2 B 4 1,646 JI &
173 H26.9.26 [REHE9 A 4y B JASAVE LRSS 5,000 |#A7k
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181] H26.9.29|h—4# /L4 —b 2k} HPET A 11,486 B
182 H26.10.25| 8%k 10 H 4y (BKR) /A it 5,000 | E
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185| H26.10.28|{K %I —S g HREIT—FTEAS | 28,058 5
185| H26.10.28|{K %I —S g HREIT—FTEAS | 28,058 JIEH
185| H26.10. 28y I —S & RIS —#TEES | 28,058 ARG}
185| H26.10.28JH I —S & R —H#TEAS | 28,058 FATK
185| H26.10.28JH I —S & EEEIF—E#TERS | 28,058 I
185| H26.10.28JH I —S % R —H#TERS | 28,058 K
185| H26.10.28JH I —S & WEEIF—E#TERS | 28,057 K
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185| H26.10.28JH I —S % eI —EirERA | 28,057 iPis
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186| H26.11.14 {5 1% — ik #y HULHED 72,600 R
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426]  H27.3.3 777»—%’2/5.%%%%—2 EIKGE(*SR) 30,456 1i]s|
427]  H27.3.5|3CEAN HE T HOELD 1,620 )1 IR
428| H27.3.15|perc BB eE3 H 7 it b A — L 3,093 5
429] H27.3.17|3c BN 77 AL AL I A (BE) 2,613 JIJEH
430f H27.3.20{>c HA% —ME VEOEHD 1,620 )1 Ig
431] H27.1.26] X = A E AT DR —INT T T 100,170 FA K
4321 H27.3.23] 10 7% Y~ X EHE 916 B e}
433] H27.3.23| FE g ik e 0~3 A Ry 3,600 W2
434 H27.3.23| &FE g i SR 0~3 A VB R R 3,600 JIE
435 H27.3.25|G e il sekls H 2 i 2 — g 3,093 IRy
436] H27.3.25| FERE A RIS A ASAEEE g 3,085 ES
437] H27.3.26[REL 3 H 4y Ve AT I S T i 5,000 [J11I%
438] H27.3.26 1475 a@f%ﬁﬁ%mﬁ%ﬂﬁa\ Ve g B RIARGE)E 2,988 )1 I
439 H27.3.27[="—#¢ U—=8} Voa—J—2E Atk 15,225 K
440 H27.3.27|/ 3 i ARSEAR )3F/&/\/$5kt B 3,348 ST
441 H27.3.27| 2 EEFE T EE R4 ~3H [RE T35 7,200 =]
442] H27.3.30|h—2/L P —E ZE R /7 — 10,005 )11 1%
443 H27.3.31|08 H ARk SeEHL A -2 -3 4 T AT 7y — R 9,279 i n
444 H27.3.31| B A~ B2 Rl S50k VA R S i L B B IS4 S T 31,476 A
445 H27.2.16|=2°—% (2 %) U — Dy SRRt 367 2k
446] H27.1.21 K611 H 12)% 1)31 F A HSS 8,544 |JI1El
447] H27.3.23|BREHE2 H 4 F A 7SS 5,415 [J11 &
448| H27.3.31[BRE ;%%1)%2)%3)%67\ (B) BT A )5 7,494 PJIJEH
449] H27.1.30[RE ;%%1)%&7\ 1 HH A (FR) 4,635 |k
450] H27.2.20]8k 8 82 H 4> A (B) 2,746 |
451 H27.3.28|KkEHE3 H 4 A () 4,236 |FEk
452] H27.3.10| =k’ —HE N —1% (BR) Fk 40,500 =k
453] H27.3.10| &)k’ — M —1X (BR) Ak 95,472 2R
454] H27.1.31| Bt B IR BOEEER R 45,000 P
4550 H27.1.31{&3F—1% HiGaEaSBOR S 30,864 2
456]  H27.2. 3Gk E EIIRAL ST 82,880 A
456]  H27.2.3/ML & HE R E EIEAE T 82,880 IS
456  H27.2. 3l Bk iR EALET 82,880 SR
456 H27.2. 3l B Rk iR EALET 82,880 HH
456 H27.2. 3l B Rk iR EALET 82,880 Ik
456 H27.2. 3l B Rk iR EALET 82,880 Lo
456 H27.2. 3B R Kk iR EALET 82,880 JIE
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we| XU N % L MR A& ﬂiéﬂﬂi B oM 5 =
2E w It i g 7 = i

FHH Hrt | b oAb | peac | g | RO RIS OMER o

2 7,245,386 | 318,720 (2,103,652 | 911,245 |1,270,052 0 559,509 [= & &t 12,408,564

456  H27.2. 3[Rk EyR ST 82,880 ESN
4571 H27.2.2[&3IF—1% () s amzer] 30,108 EAN
4571 H27.2.2[&3IF—1% () s awzer] 30,108 IiYs]
4571 H27.2.2[&3IF—1% () s amzer] 30,108 SR
457]  H27.2.2]EIF—1% (k) M7 s e aizei ] 30,108 2
4571 H27.2.2[&3IF—1% () s amzer] 30,108 USS
4571 H27.2.2[&3IF—1% () s awzer] 30,108 GiLd
4571 H27.2.2[&3IF—1% () s amzer] 30,108 JIEI
457|  H27.2.2]E3F— X () s amzer] 30,108 ER
458]  H27.2.6| Bt E iR HRER 82,880 JIE
458]  H27.2.6| B R E iR HRER 82,880 JLBH
459 H27.2.5[&3IF—1% G B S 30,864 JIJEH
459 H27.2.5[&3IF—1% T 5 5 BRI 30,864 VLA
460] H27.2.10| = I 150 22 ik 2 B IFy IR 56,020 e
460] H27.2.10| & IR 22 ik I I 56,020 R
460] H27.2.10| = I 10 22 ik 2 B IFy VR 56,020 I
460] H27.2.10| & IR 22 ik I I 38,200 H#
461 H26.12.11[="—{%10H - 11 H Uoa—Dy SRR S 158 ENIR
462] H27.2.16]=2— 1% (1 H %)) Yo — Py SRR 393 ENIR




